


1. The ______ is the answer you 
get when you multiply two
numbers.

a. quotient        b. product
c.  divisor           d.  total



2. 3 x 5 is the same as which of 
the following?

a. 5 x 5
b. 3 + 5
c. 5 + 5 + 5 
d. 3 + 3 



3. Emily needs 6 apples to make
an apple pie. If she has 48
apples, how many pies can she 
make ?

a. 6 pies
b. 16 pies
c. 8 pies
d. 48 pies        



4. 54 ÷ 6 = ____

a. 1
b. 29
c. 6
d. 9   



5. Which has the greatest value ?
5 x 9 or 6 x 7

a. 6 x 7
b. Both the values are equal
c.  5 x 9
d. Both the values are not equal



6. What is the quotient of 
24 ÷1=

a. 1
b. 24
c. 42
d. 0



7. Which number makes this sentence
true?  
4 x 9 = ___ X 6 

a.  6
b.  8
c.  10
d.  9



8. 94 ÷0 =

a. 94
b. 1
c. 0
d. Division by 0 is not allowed



9. Paul’s teacher asked each student
to bring 6 pencils. There are 24 
students in the class. How many
pencils will the teacher receive? 
What operation would be used to 
find the answer?

a.  Addition                  b. Division
c.  Subtraction             d. Multiplication



10. Find the answer?
4  x 4 = ___ , 3 x 3 = ___
9 ÷ 3 = ___ , 4 ÷1 = ___
a.  4  , 9 , 2 , 4   
b. 16 , 9 , 3 , 4
c.  2 , 9 , 3 , 4             
d. 16 , 9 , 3 , 1



ANSWER KEY

1. Product               6.  24
2. 5 + 5 + 5              7.  6
3. 8 pies                  8.  Division by 0  is not allowed
4. 9                          9.  Multiplication
5. 5 x 9                   10. 16 , 9 , 3 , 4



Thank you
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